Geometry State

MODTRAN
lo(xgeom XaTm)
tair (XgEOM, XaTM)
tfiif (Xgeom> XaTm)
t' (xgrom, Xarm)
s(xgeom, Xarm)

Atmosphere Model xgeom = [00, 0y, ¢r]" \
6o = TOA sun zenith

0, = view zenith

Surface Model

¢, = relative azimuth

Mie Scattering + DISORT
Ps(XGEoM» XSURF)

Prior

Knowledge
X Sa

Forward Model Radiance Model
€, ( 3 !
= (cos(6;) - tgi + cos(o) - tair)
FGo = lp+ T—— Lyt
1-5-ps

Measurement

Noise
S.

~

Optimal Estimation @ ptimization of Cost Function /
T

€00 =5 (y = F) 571(y ~ F0) +5 0= x0TS0 (x = x)




